


Detail view

@/@ |




Part List (N733P170510)

(5)x1

Side rail

(6)x3 _—

Crossbar Footboard - Headboard

(7)x2 /

Panel Footboard - Headboard

Xl ‘i

Support Side rail

(9)x ~__

Bookshelf Headboard

Crossbar Headboard
D

Panel Bookshelf Headboard

Top Bookshelf Headboard

16)x1 S

Crossbar Bookshelf Headboard

Bookshelf

Bookshelf

Top Bookshelf

Panel Bookshelf

Panel Bookshelf

Crossbar Bookshelf

Side rail

PAGE 3 of 17




Part List (N733P170510)

@xm\

Slats

xz%

(27)x2

Back Drawers

ront Drawers
X4 &

Side Right Drawers

X4 f

Top Drawers

@x4/

Support Drawers

PAGE 4 of 17




Part List (N733P170512)

Leg Footboard

(2)x1

Vi
i

77
4

Leg Footboard

A

1\

Leg Headboard

(4)x1

Leg Headboard

[

Mid Bookshelf

Xl

N

Frame Headboard Leg

Y

Frame Headboard Leg

Side Bookshelf

Mid Bookshelf

PAGE 5 of 17




Hardware List (N733P170510)

OUTLOOK

DESC

&

Dowel @10*40mm

of

Bolts 1/4"*20mm

-
o

Bolts 1/4"*40mm

Bolts 1/4"*60mm

Bolts 1/4"*70mm

Bolts 1/4"*100mm

Cross dowel 1/4"*13mm

Screws #6*12mm

Screws #8*25mm

Screws #8*30mm

Screws #8*40mm

Round head screw #8*40mm

Wheels

Power outlet

Allen key 60*22*4mm

T\ 4 ET\\ !

Wood stops

<
g

Bolts 1/4"*30mm

G@@OEE|D®GEE @@ @G 0|@>)F

0>

Base L

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

PAGE 6 of 17




cal

A1

PA
G
E7of 17



PAGE 8 of 17




PAGE 9 of 17



N~
—
Y

(@]
o
—
L
Q
<
o




02

Sl

PA
G
E 110f17

STEP 10:




PAGE 12 of 17







PAGE 14 of 17

STEP 16:




PAGE 15 of 17

//

STEP 18:




STEP 19:

STEP 20:

PAGE 16 of 17



PAGE 17 of 17

STEP 21:




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


